Math 12 Foundations
1.6 Solving Investment Portfolio Problems (Continued)

By the end of the lesson you will be able to:
· Analyze investment portfolios
· Compare investment portfolios by rate of return 

[image: ]
First, solve for the current value of each portfolio.
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N= _______________
I% = _______________
PV = _______________
PMT = _______________
FV = _______________
P/Y = _______________
C/Y = _______________


N= _______________
I% = _______________
PV = _______________
PMT = _______________
FV = _______________
P/Y = _______________
C/Y = _______________













Solve for the rate of return of each portfolio.
           

























Practice: 


image2.png




image390.png




image400.png




image41.png




image42.png




image43.png




image44.png




image45.png
4|




image46.png




image47.png




image48.png




image3.png




image49.png




image50.png




image51.png




image52.png
|




image490.png




image500.png




image510.png




image520.png




image53.png
_639 \1




image54.png




image119.png




image55.png




image56.png




image57.png




image58.png




image59.png




image60.png




image61.png




image62.png




image63.png




image64.png




image210.png
(b)eat—s




image65.png




image66.png




image67.png




image68.png




image69.png




image70.png




image71.png




image72.png
Next 5 years




image73.png




image74.png




image310.png




image75.png




image76.png




image77.png




image78.png




image79.png




image80.png




image81.png




image82.png




image83.png
SE .




image84.png
HQ




image4.png




image85.png




image86.png




image87.png




image88.png




image89.png




image90.png




image91.png




image92.png




image93.png




image94.png




image5.png




image95.png




image96.png




image97.png




image98.png




image99.png




image100.png




image1000.png




image101.png




image102.png
‘ valu e
Jqson 5 J’u\“'m\ft




image103.png
29. 12




image6.png




image104.png




image105.png




image106.png




image107.png




image108.png




image109.png




image110.png
CA76-62
+ g9 8%

Lo ol: ¢
HQUEERID




image1100.png




image111.png




image112.png




image7.png




image113.png
56.4




image114.png




image115.png




image116.png




image117.png
H.(Ho315.88




image8.png
Jason and Malique are each hoping to buy a house in 10 years. They want
their money to grow so they can make a substantial down payment.

Jason's portfolio: Malique’s portfolio:

« A 10-year $2000 GIC that carns 4.2%, « Ataxfree savings account (TFSA) that earms
‘compounded semi-annually 2.2%, compounded monthly, and has

« Asavings account that cams 1.8%, compounded current balance of 5600
weekly, where he saves §55 every week « “The purchase at the end of each year, of a

« A'S-year $4000 bond that cars 3.9%, 10-ear $500 CSB that carns 3.6%,
‘compounded quarterly, which he will rinvest ‘compounded annully
in another bond at an interest rate of 4.1% « Asavings accoun that cams 1.6%, compoundec

‘monthly, where she saves $200 every month

1n 10 years, whose portolio will have the preater rate of return on investment?
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